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LAW (PAPER-III)
( Penal, Revenue and Local Laws )

Time Allowed : Three Hours Maxi m Marks : 200

SPECIFIC INSTRUCTIONS

Candidate should answer six questions in all. Questi
two each should be from Section—A and Section—B!

N d 2 are compulsory and rest

Marks carried by each question are indicated

1. I Y29 S Teha= AU, 1953 3 I F=fafaa = gugme
As per the provisions of the UR§Consoli@atios of Holdings Act, 1953, explain the
following :

(a) <Fa & .

Consolidation area 10

(b) < URH

Tenure holde 10
(¢) i f i 39y .

Aims jectives of consolidation of holdings 10
(d) EIEXIE RG]

Essential Tequirements of consolidation scheme 10

2. Ffafed ®, IW w0 v=9@d U9 Af¥figm, 1947 § aftfa weumt % stwaria, Roafimi fafex -

As per the provisions of the UP Panchayat Raj Act, 1947, write notes on the
following :
(@) = G=EA

Nyaya Panchayat 10
(b) UM q=ETE

Gram Panchayat _ 10
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6.

7.

8.
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() RN EEATawE SRR oTen iR U Sa 91 Sa % Rt s B e R EeRar 27

(b)

(a)

(b)

(a)

o T gftrer et ey sifa o emgfe smenf 3 dafta @, @ @ g9y #§ 3R fRafy
w1 Trf? J9R

Can a Bhumidhar with transferable rights bequeath his holding or any part
of it?

If such Bhumidhar belongs to a Scheduled Caste or Scheduled Tribe, what
shall be his position in this regard? Explain. 20

fafafaa ol § TR &1 9 SdaRy -

Point out the order of inheritance in the following cases :

(i) -9 U g iR 3n i) e ol Srew WS 1§
A male Bhumidhar dies leaving behind his

(1) Afoentea agehl .
unmarried daughter 4
(2) Hran
mother ' ¢ 3
(3) fumm
father 3
(ii) < U Al spEEr o e e s
A female landholder dies leaving behind“aer
(1) ufd
husband 4
(2 T
son 3
(3
daughter 'S 3
—d |/ SECTION—B
TR T 1 GHEa 87 AR 9ve dfe, 1860 ¥ sAoIiten wH:fedfa R
e 87
What urniderstand by mens rea? What is the importance of mens rea
un. ian Penal Code, 18607 Discuss. 15

‘T o1 T @ Afeen A da ¥ @ AW ufy F A wge T wdl B T 9w e ufa

‘&’ ol R BlgR AT JHTT F W Il I ¢ R 9w qw M % W uf-uel & €9 A @
T B AR T R A9 FaEy|

A is married to a female B. B does not remain satisfied by her husband A. One
day leaving her husband A’s house she goes to the house of her paramour C
and there she remains with C as husband and wife. Discuss here C’s offence. 10

STedErsh 3R oa & g e 3R 376 79 =R wE Al
Define and distinguish between forgery and cheating. 10
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(b)

(c)

(b)

(c)

10. (a)

(b)
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F, @ g TEaia wh aRs 9 el el sited 98 R, e 9% ved (3% F) A
oIl & TR IWH T E9R ¥9Y SR R I@ RN F I HE 90y Fiika fwn 27 FRO Afa
I i

A picks up a bearer cheque signed by B from a bank counter. No amount is
shown in the cheque. A inserts ten thousand rupees in the cheque. Has A
committed any offence? Answer with reasons.

F TH WUER W T @ A et uelt o Rmm % o o @ @fe dern 9d R
TUEHR T FS S qHMA] 6 & O (F801) § I A9 9 Uk ol &1 1 F A B 9y
Toram 87 = wfga sw Af)

A takes a golden ring from a goldsmith for showing it to his wife but does not
return it to the goldsmith. A retains it against the debt due to him from the
goldsmith. Has A committed any offence? Answer by giving re s.

L g
i il o= 1 FH % gey A T 9w § wwrd gve |@fea@, 1860 4 % Il
sy fafy (deem) sfufem, 2013 g fF faftm =9 = aoig o 3% THFRY
afPwhich in recent
epated under Section

Explain the different forms of outraging of modes
past the Criminal Law (Amendment) Act, 2013 h
354 of the Indian Penal Code, 1860.

‘Y I A il T R ey wRa @ AT U b A =R H
e #ifve| o IR A g § froffa 9= @ 39 dfs )

Explain ‘preparation to commit crimg mpt to commit crime’, and point
out the distinction between the ith the help of suitable illustration
or decided cases.

‘%’ b dH-Ryar (+++) Sied s ¥ 600 1 @M1 3R W & A1 & SETE 98 T
2 & g 5§ @reft #1 3= %%ﬂﬁawwﬁm%n‘m’ﬁaﬁmwmm

A goes to a thre
sum of ¥ 60 wing®that his pockets are empty. He could not pay the

71 Rl hed §7 W oy # FRA-fe adt @ g TR e stavees 27
1 iR ‘et gfAfEm # sR e A s I 3ee |t )
What is Criminal Breach of Trust? What facts are to be proved for such
offence? Point out the difference between ‘Criminal Breach of Trust’ and
‘Criminal Misappropriation’. Support your answer with examples.

m 39 HHE i B9 QHD ) weEa § 98 I g1 @ w%@u 21
@ A F-a 9y wiia fe Re

A c11mbed upon the roof of his house with the help of a ladder. B intentionally
pulls the ladder. What offence has been committed by B?
P SR AR

* % %k

10

10

10

15

10

4 EE7—2400



	pcs j mains law paper III
	pcs j mains law paper III 002
	pcs j mains law paper III 003



